—_

BUTT HINGE FOR ALUMINIUM FRAME AS-HG-SUS N

o Special hinges fitting perfectly with the mounting groove of aluminium frame. No
additional washers are required.

o Plastic bushes provide smooth movement and prevent metal-to-metal friction.

o Aluminium alloy hinge AS-HG-AL of the same type also available.

S3ADNIH

[Remarks]
o Load capacity is the value when using two hinges. For calculation conditions, please
AS-HG-SUS-M3030 AS-HG-SUS-M3040 refer to INDEX IEI .
TORQUE
HINGES
P oy Wore] il 6] 4 11
2x¢5.5 911 1611 = 2x¢4.5 ¢8.5 Ws+Ws 4x¢5.5 ¢11 %05.5 ¢ DAMPER
Tl T T 1 T HINGES
Il Sl T T [=) [=)
1 @&;@;H oJolel ] wJo s |
e i n oo 1 n oo ASSIST
5 e 5388 @*ﬁ\é‘ ; L ¥3ec @%% ~377 HINGES
ofjel= | @ oo, ® ofijels @ ——
2 = (a) = (a) DETENT
2541&«\@ @«wz*LwH\@ @«32#25*\@ HINGES
0 0 0 —
©r ©or soT CONCEALED
+ j %" j %j HINGES
AS-HG-SUS-M3020 AS-HG-SUS-M3030 AS-HG-SUS-M3040 BUTT
(Fig.A) AS-HG-SUS-M4040 (Fig.C) HINGES
(Fig.B)
[a— No.| Part Name Material Finish / Colour FIANG
. Load Capacity | Load Capacity| Weight | Box | Carton ] Body A ) i
ﬁCAD (Gl ltem Name | Drawing |W1(W2(Ws N2 pes k2 pes @ | (pcs)| (pcs) & BodiB less Steel (SCS13) |  Polished HINGES
EE | 170-011-886 | AS-HG-SUS-M3020 | Fig.A | —| - |- 96 | 10 | 100 0O Shaft Stainless Steel (SUS304) Plain
EB | 170-011-887 | AS-HG-SUS-M3030 | Fig.B |50/25|16 102 | 10 | 100 O Bush POM STEP
- 294 30 Natural HINGES
EE | 170-011-888 | AS-HG-SUS-M3040 | Fig.C | -| - |- 112 /|10 /100 O Washer PEEK
EE | 170-011-889 | AS-HG-SUS-M4040 | Fig.B |64|32|21 124 | 10 | 100 ) | E-type Retaining Ring | Stainless Steel - LFT-
Refer to [P : P.174, I : P15 OFF
HINGES
E[l%‘l@ Parts Set for Installing to Aluminium Frame Picase refer to the series introduction page Il for details about AS series. EII\,{I%ES
[AS Parts Set] Parts set of screws and AS nuts
el P . SPRING
_Ro§ | CAD PUTE) 3 efe T ) Item Name | Aluminium Frame Parts Weight () HINGES
Groove width |Hinge AS-HG-SUS-M3020: 1pc
LG AS Nut AS-8M5 : 2pcs
~ | 170-013-727 [ASHC Bmm S N AS e 2105 - L
SUS-M3020-8 | Groove width |eyaqon Socket Countersunk Head Serew Méx 10: 20cs HINGES

8 mm Hexagon Socket Countersunk Head Screw M5x 12.: 2pcs

-HG- i Hinge AS-HG-SUS-M3030 : 1pe HNGES FOR
- 170013728~ Groove width AS Nut AS-8M5 - 4pcs - ALUMNUM
SUS-M3030-8 8mm Hexagon Socket Countersunk Head Screw M5x 12 :4pes FRAVE
B Groove width | Hinge AS-HG-SUS-M3040: 1pc DROP
Hinge AS nut AS-HG- AS Nut AS-8M15  2pcs
| - |170-013-729 |*SHC Bmm A0 2cs _ HINGES
SUS-M3040-10 | Groove width | yeyaqnn Socket Counersurk Head Screw M 12: 2pcs
10 mm Hexagon Socket Countersunk Head Screw M5x 16 : 2pcs GLASS
DOOR
AS-HG- idith |Hinge AS-HG-SUS-M4040: 1pc
| - | 170-013-730 *SHE Groove Width | o3 1ASals s - HINGES
SUS-M4040-8 8.MM  eyaqon Socket Countersunk Head Sorew M 16: dpcs
) SPECIAL
AS-HG- Gi idith |Hinge AS-HG-SUS-M4040: 1pe
| - [170-013-731 roove WIGHY | s NutAS1015 - ocs - HINGES
[Dimensions] SUS-M4040-10 10 mm Hexagon Socket Countersunk Head Screw M5x 16 : 4pcs
AS-HG-SUS-M3020 AS-HG-SUS-M3030 AS-HG-SUS-M3040 AS-HG-SUS-M4040
43 2xM4x10 50 b7 | 2xM5x16 A ba b
16 | 1T ol Il o 1o ft T o 21 21
OL * © é é ¥ é ‘ J‘;H 4xM5x16 ‘ | g
2xM5x12 octc: axmisx12 [ ]| iiw 2xMsx12/fig Sl ® o i j
§ Fo© i§ IO 0 e I3 O
el | el | e e || ol
et & s & i ENES *
1811 \T"- 25+ H e 2Tt = g
<

1.5

2
Refer to I : FRONT P20, I3 : P706

SUGATSUNE

Update : May 26th 2021





